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General Information

Classes:
Friday 10:00-11:00 (G2) or 11:00-12:00 (G3).

Office hours:
Friday 12:30-13:30 (L32.1.30).

Contact details:
m.barrios-fernandez@lse.ac.uk
andresbarriosf.github.io
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Why we care about public economics?
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Why we care about public economics?

1 When and why should the government intervene?

Fundamental Welfare Theorems.
Redistribution.

2 How should policies be designed?

3 What are the effects of policies?

Mechanical (direct).
Behavioral (indirect).

4 Why do public authorities behave in the way they do?

Political and technical constraints.
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Today’s class

We will review some microeconomics concepts that will help us to deal
with the questions just discussed:

Supply and demand.

Consumer theory:

Utility maximization.
Slutsky equation:

∂xi (p,w)

∂pj
=

∂hi (p, u)

∂pj
− ∂xi (p,w)

∂w
· xj(p,w)

Efficiency.

Welfare:

CV, CS, EV.
Welfare functions.
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Problem Set 1

For this question, consider a consumer with a generic utility function u(x1, x2)
satisfying the typical properties mentioned in lectures.

1 Show graphically how an increase in the price of x1 affects the budget
constraint and optimal consumption levels of x1 and x2.

2 Is it possible for an increase in the price of x1 to result in an increase in the
individuals utility? Why or why not?

3 Decompose the total effect on x1 and x2 into income and substitution
effects. What is the intuition behind each effect?

4 Repeat this decomposition for a consumer with utility function
u(x1, x2) = min{x1, x2}. What is the substitution effect in this case?

5 Using the utility function from Part 4, derive analytically the amount of
income you would need to provide the individual after the price change to
bring her utility back to the original level. Express your answer in terms of
the new and old price of x1, the price of x2, and income. How does your
answer relate to the income effect of the price change? What does your
answer tell you about the effect of the price change on welfare?
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Problem Set 2

Consider an economy with two consumers, Ann (A) and Bob (B). Denoting by x
and y the two goods, their utilities are given by uA(xA, yA) = xA + yA and
uB(xB , yB) = xByB , respectively. The total endowment in the economy is 20
units of x and 10 units of y.

1 Draw the indifference curves of Ann and Bob that pass through the point
(xA, yA) = (18, 2). Is the allocation Pareto efficient? If not, suggest a
Pareto improvement.

2 Characterize the set of Pareto efficient allocations.

3 Which Pareto efficient allocations are feasible from the point of view of the
social planner with the ability to redistribute resources in a lump-sum
fashion? Discuss which of these allocations might be desirable to such a
planner.
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Today’s class

After this class you should be comfortable with:

Supply and demand diagrams.

Utility maximization:

Graphic solution (indifference curves).
Analytic solution (constrained maximization).

Substitution (relative prices) and income effects (change in wealth).

Pareto efficiency and Edgeworth box.

Welfare:

CV, CS, EV.
Different social planner preferences.

If you have doubts with any of this concepts, come to my office hour!! Do
not wait until the week before the exam!!
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